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OBJECT ORIENTED PRPGBAIIMING TIIROUGH C++

@

fuq utlrfis' (operator) * R+[
(precedencel ffi*ettt

Roll No. 3 .. ... .. .. . ... o.... .. ..

tqftroilT drr: 30

Maximum Marks : 30

1. Which operator is having the higlest
precedence ?

(a) Prefix
(c) Shift

What is the value of the Bool
is-int (789.54) ?

(a) True

O) False
(c) r
(d) None of these

Select the right oPtion.

Given the variables p, q are char type

and r, s, t are of int tYPe

1. t=(1*s)/(r+s);
2. t=(p*q)/(r+s);
(a) 1 is tnre but 2 is false

O) 1 is false atd2 is tme
(c) both 1 and2 are true
(d) both 1 and 2 are false

P.T.O.

-,

qts.:

Note:
@ srr?rro#rard*g vdr-rwt orfi'6r* ,

AIt Questioas ore compalsory and each question is of I ma*

(ii) qhiq,sr,r##qryrd*#fisfrf efdqt aVarc*zrlal 1

Only glitglish version is valid. in case of difference in both tlw langruges.

1.

n

(a) Prefix
(c) Shift

O) Unary
(d) Equaliry

Bool is=int (789.54) 6T qrt Hr t ?

(a) vf,r
(b) qsil
(c) r
(d) E{i t EItftl

dffi'noigfrn r

ftqr t fo p, q eIHt qt t nqr r, s ? t
Wtt,q(i
1. t=(1*s)/(r+s);
2. t=(p*q)/(r+s);
(a) IDPFT 1 Vf,I Et 16?FT 2 ENff,T

o) Eem I Er{rf,tqlfiwT 2 Vet
(c) rr{FT I qzqtdvf,
(d) Efilq2tdsnrdT

(b) Unary
(d) EqualitY

(1)
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4. fr{qil U{f,T qre qdE'r ti,{€ qd +

ftqfrlrmyqrsqgmt t
(a) q*c
(b) cirFT

(c) ril'r sw
(d) tuqcde

5. m ulaqq void rrfir(rrr liler t r

(a) qtftrFffi

O) q$ftqiilr
(c) nSqN[6'
(d) F{tq+tqET

rqft,m rsrst qftrflkd url wEHr +ff
tz
(a) E+qfr ffiiEnqfifrfr r

(b) E+ eft qdEm r),il r

(c) E$r+qtdF{fr qrqftmqStfr
(d) v++++tqff

EI6 (arrayl qrtf
(a, qf FlIF|iT rtn q Vqrt roR S'

il€Iftt,iqdit I

(b) qrmaTd{wrt r

(c) atr mqpm sZfr { qqtr IGFR*.
il€iftt,ffit r

(d) Eqil+6tqi{

(trt (ConstanO et
(a) *-{e
(b) s,*iln{
(c) frlc€

Snrit r

(d) Eq++firfi

? : uqKrro+t ufi t t
(a) ffiqtgilrtrtr'
(b) IltrFq(t'F.rirfis'
(c) redrflffi'
(d) H,itstjt{6T

1.

9.

(2) 2163

\Vhich one is suitable for extended
precision floating point variable ?
(a) Float

6) Double
(c) l,ong double
(d) Extended float

# hare the return type void.
(a) All tunctions

G) All constnrctors
(c) All destmctors
(d) None of these

fVUat will happen when defining the
e,numerated type ?

. (a) It will not allocate hemory.
O) It will allocate memory.
(c) It will not allocate memory to

its variables.
(d) None of these

What is an array ?
(a) An anay is a series of elements

of sarne tJrpe in contiguous
memory locations.

O) An array is a series of elements.
(c)- An anay is a series of elements

of sarne type placed in non-
contiguous memory locations

(d) , None of these

Constant are also ca[ed as
(a) Keyword
(b) Pre-processor
(c) Literals
(d) None of these

? : operator is called as

(a) Conditionalop€rator
(b) Relationaloperafor
(c) Crstiog operator
(d) None of these

1.
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10. ftsq (swirch) qem* 

- 

Sq[T
qilt r

(a) qqkffiri{qqT

(c) pfimr
(d) F+t+tqfi

trqfiqr (iterations) st fqt ilil d, d
qil{qTvtq{ floopine) nFfiT dtrt t
(a) For

(b) While

(c) Do-while

(d) Eq+ffiq$

C++{ffiuontta+r+*qr
nffii,.t ?

(a) qF

(b) +
(c) fr
(d) qE

c++ {fteqftrqi wr tr
(a) *d +s qT'qrtt ffi dwq.

erqterqrcnt r

O) k{fir €rt qrt[q H{+ + ftq
{fiffiE*tfficqmrt r

(c) ffiFur{d'qt r

(d) FS++*Tfi

t4. c++t;*rcqffi um*iqki t
(a) o

o)1
(c) 2

(d) 3

t2.

13.

(3) 2t6l
The swirch statcment is also called as

(a) Seloctive Dtruchrrc

(b) Ioop stnrcture

(c) Certain structurp

(d) None of these

Which looping prooess is best when
the ntrmber of iteratims are known ?

(a) For

(b) While

(c) Do-while

(d) AII above

How marry tlpes of commonts can do
inC++ ?
(a) One

(b) Two

(c) Thrce

(d) Four

What is a comment in C++ ?

(a) Commonts are parts of solrce
code disregarded by compiler.

(b) Comments are executed bY

coryiler to find the meaning of
the comment.

(c) Commonts are executable

(d) None of these

L4. How ftlny ninimum number of
firnctions are neat to be presentqd in
C++ ?

(a)o O) I

(c) 2 (d) 3

10.

11.

12,

13.

P-T.O.
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15. c ++{rere: fuqnfiRqqftiqrfrt t
(a) rTH ERr qta wqr
(b) d$i EI{I +ia or+
(c) qqfi'ERrofai[,ra

(d) Eq{t+irff

16. *qTq +frqr<q in qRr$T *drt
(A) Bqd'qffit6nrqfumfudw{+
(b) SqtF'il{+
(c) VoidrsFmt

(d) rq++HliiTfi

17. ffi lreturn) qem durq + trqnT 6)
orianrmri t
(a) tETTFTTtR

O) Wfiqrd$?FTrr
(c) uti'qo+ qt

(d) r{+++$qfi

18. frTH { + qilq t q6T trR r+5c
oritr
(a) qrt+a+rsm
(b) qT$?utdwq
(c) Brfrn++{
(d) rq+++trfi

19. sq+|tiFli ERT Hqr rkT: (defauD qr{

+di fr+ qri tn*q rn qH 6rrr { ft{qr
qFilT 7

(a) sqqhffiist
(b) tliT: (default) qFT

(c) ?F€rI (custom) qH

(d) E{+++Tfi

.I.

(4) 2163

15. By defadt'hbw the values are passed

inC ++ ?
(a) Call by value

O) Call by reference

(c) Call by pointer

(d) None of these

16. Where does the execution of program

starts ?

(a) User defined function

O) Main function
(c) Void tunction
(d) None of these

17. Where does the return statement

rettrns the execution of the program ?

(a) To the main function

O) To caller function

(c) Same firnction

(d) None of these

18. Which of the following permits

function overloading on C++ ?

(a) Tpe of argument

(b) Number'of arguments

(c) Both of above

(d) None of these

19. Which value will it take when both

user and default value are given ?

(a) User value

O) Defaultvalue

(c) C\rstom value

(d) Noile of these

A,
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io. cr+{ wrmqd{ rqfrnrrfi tfr t
,(a)1

o)2
(c) 3

(d) 4

zt. sqM ERI st + sra (data)

ffidEd+frqdlqqrat-{Grd'r
qqilt t
(a) def

O) union

(c) tYPeAef

(d) rYPc

zz. IrFIff (1e S{ (dir€ct

member aocess op€rattr) t unr fuq

ustalq*(qffmsd ?

(a) Rrblic

O) Private

(c) Ptotcctcd

(d) (b)tr (c)

23. ffi Frtro (a€mffi) 6f qffid qfi

HqtqTgfi{r r
(a) ::
o)+
(c)

(d)

?/+. tilF (dsrived)ftnu{ rnrcrlt tti
(a) wFI

o) tFeFT 
i

(c) (a)q (b)qH

(d) E{rtdt{[

216p

How runy tYPes of class access

specifies are there in C++ ?

(a) 1

(b) 2

Gr3
(d) 4

Which keyword is'used to defrse the

userdefineddatatYPe ?

(a) def

O) union

(c) typedef

(d) type

22, Wbich member is not aPcessed bY

using dircct mpmber aooess operatgt ?

(a) hrblic

O) hivate

(c) Protected

(d) Both (b) and (c)

23, Which operator cannotbe overloaded ?

(a) ::
(b) +

(c)

(d) *

?/+, Which can be inlrerited in dprived

class ?

(a) Member

O) Function

(c) goth (a) and (b)

(d) None of these

(s)

21,

P.T.O.

-
t
t

f-
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25, qw( (exception) mt rl'rye6 p ,
(a) *nqqq*
(b) qts+.mr
(c) €rq{ qr qrf,{ Q+
(d) tq{+q+*qfi

26, guu (block).{ UE (error) qt vfiq +
ftra rgFdttr
(a) try
O) throw
(c) catch
(d) r-t{+qili#

27,'Fim$,q+-T$ril rrxt gqrilrr t f
(a) fuH + Er{ET + nerRn o,{+ +

IFTq I

.O) *nq+q<T{ffiilu,d+
icqqiE€ffiqlliqrrmu 

r

(c) (a) e G) +{t
(d) E{+ + 6}tqf

28. ydtr f*oioel { ffi(utl +ft{qqil{ *fr
ts{qlif€om#t r

29,

30,

(a) iostneam

(c) striug
O) iouan ip
(d) container

gs"EFIrH wr ftrrq oren t t
(a) Emult
(b) rFFrT

(c) (a) q G) qt+
(d) Eq+ + qtt,q#

sctr { Bwer t{rrf< qf fr+ qri t z
(a) v{*qr.ft.dt
(o/ v{€ Erqi qn
(c) (a)e O) qt{t
(d) Fdtfrttifi

(6) 2tg

N,

q7.

28.

29.

25. IVhere exception ar-e handled ?
(a) Inside the program

G) Outside the regular code
(c) Both inside or outside
(d) None of these

Which is'uspd to check the error in
the bloek ?

(a) try
(b) throw
(c) carch

(d) uone of these

What is the use of .Finally', 
keyrvord ?(a) It is used to execute at the

starting of program.

O) It will be executed at the end of
progam even if exception
arised"

(p) Both (a) and O)(d) None of these

lilhich header file is used to
manipulate the sning ?

(a) iostream G) ioman ip
(c) string (d) con0ainer

What does a class can hold ?

(a) Dara

@) Function
(c) Both (a) aad O)
(d) None of these

Where does default parameters be
placed ?

(a) Ireftmost
(b) Righmost
(c) Both (a) and O)
(d) lrlone of these

30.

-
l,
I

l
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ffiatrrc'*td}1
fine allowed : Three Hoursl

ttr.: fi)
Noto:

oBJEcr SRIE1y1ED pno8ilLmanrlc rHRouGH c++M

ROll NOt 3 rrqrooororrroe ooolroro

tEtftrt,'dh dt.: 7O

tMadnrmMrrls I 70

(2x5)

wrtrfrrtrlnrnrdt {Arf rlfiF# qfu#wrq?Fr+ t

QrustionNa 1 is cotttpulsory, ,tnswer uryfive Erestionsfromtlu rercaining'

1.

(ii) rarsw#sqt v''il *t ffiargaslrrd #Fzq I

Solve ell parts of a qucttbn consecutively togalur'

(iii) sdtr:svrdfriFlEE'xE ffis '
Starr each question on afreshpage'

(iv) ctdl s,vr,ryI #.amrati 6 ffid .lrfqfl e6ard qq t t

onty Engtkh version is vatid ln case of differerce in both ttv langwgds'

(i) end *t setw {Ft$s'Ct'*ttnttt
whEtarethefimctionsofendlandsenn,manipulators?

(ii) m-q€ + qlq IFIT sqfi t t
What do You understand bY object ?

(iii)@mtt
What are destntctors ?

(iv) {ffimffiffiotffidPqql
Define firoction overloading'

(v) qrqff+srFrTtt

Whatis afile mode ?

(i) d,d€dftesffi'r*.ltMrn$rs I

Explain the characterlstics of object orionted Program4-ing.

(ii) ofr;t, srrfe *{*}#qdsdfuq[{{t 6t wilw I

Explain public, private and protocted access specifiers'

(7)

(6+6)

P.f.o.
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3. (i) read( ) *rwrite( I qr<IEblsqrruilqkrqqf,rqq 

r

Explain read( ) and urite( ) functions with examples.(ii) cr+ *'iftm-srexzr$EilwrilN ,

Explain the basic data tlpes in c++. (6+6)

4. (i) tdqrrq{rtr dii'r drtfiq'r+tn+f,T{q I

What is Exception ? Explain thooriog and carching(ii) r+Rls*'r66 qr{frrq {qot{ ffi r

Describe the tlpes of Inheritancp in brief. e*4ro
5. (i) flswtolsflrtorqfuqrflr{q 

r

Explain friend function with exampte.
(ii) .dqtc{ ffiErr wr t r sqtzr.ilqrtifr"T+Frqqfrfuq 

r

lvhat is operator overloading ? write the nrles for operatcs overloading . (612,;1)

6. (i) ffitsqrui F{fd@rc siqt{,{dqqgrw I

Explain the formatted console Inpur/Outprt operations.(ii) q{w+€ffi+qdqqsrw 
I

Explain viftal baso classcs. (6+6)

7. (D c+r qq1{w'*qmfrfuqEilqtEifqoth*rr+{cql 
eqtEqtfu,qfi r

write a program in c++ to check whether a n.mber is prine or ndt"(ii) QBrcrzrfqdslrrrfiEq I

Explain static data meubers. (6{6)

8. frHtufucq{dhqffirdfttus:
Write short notes on the following i(i) c++ qtq

C++ Streams

(ii) EtFrTsTwn

Inline function
(iii) *timq.rr

Generic functioa 
(4,6)

(t)

I


